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B B & XK

B
T o A B REEL AR T &3t s %
e | Ame | R

H

g

oy — hiEEL

e B T

e T 30Mpa m2 211. 20 212. 63 — 245. 71 -1. 86 667. 68 668
FKIAHE T

FIA~w—8HL | EEEN m2 211. 20 212. 63 — — -1. 86 421.97 422

KEHET(EE) |[HEHR, t=5mm m2 211. 20 212.63 — — -1.86 421.97 422

FEWE T (EE)  |HEECR, REFIE, t=3mm m2 211. 20 212. 63 — — -1. 86 421.97 422
JEChR A B iR % T

a7 U—h 18N/mm2LL k(A J7) m3 — — — 19. 27 19. 27 19

BEEAE ® 3. 2%100%100 m2 — — — 234. 20 234. 20 234
H# T

B HiffiE T B = 2, 50%50 m 25. 82 25. 82 25. 8

B s = AFEVAR (1=10) m2 1.93 1.93 2




REKEL (M)

e T (%) REWET (EF) e L (G &) REWET HF)
A s t=bmm t=5mm & &
(m) ¥ | T 15 HE W | T 15 HE Wr | T 15 B E
No. 27 35. 900 — 0. 82 — — 0. 82 — — 0.97 — — 0.97 — —
No. 27 38.140  2.240 0.81 0.815 1.83 0. 81 0.815 1.83 0. 99 0. 980 2. 20 0. 99 0. 980 2.20 |1P-61
No. 28 11. 860 0.85 0. 830 9. 84 0. 85 0. 830 9. 84 — — — — — —
No. 28 8.960|  8.960 0. 84 0. 845 7.57 0. 84 0. 845 7.57 — — — — — — [EC.62
No. 28 25.000| 16.040 0.87 0. 855 13.71 0.87 0. 855 13.71 — — — — — —
No. 28 27.920(  2.920 0. 89 0. 880 2.57 0. 89 0. 880 2. 57 1.30 — — 1. 30 — —
No. 29 22. 080 0.91 0. 900 19. 87 0.91 0. 900 19. 87 1. 30 1. 300 28. 70 1. 30 1. 300 28. 70
No. 29 25. 000 25.000 1.03 0.970 24. 25 1.03 0.970 24.25 1.32 1. 310 32.75 1.32 1. 310 32.75
No. 29 36.900| 11.900 1.03 1. 030 12. 26 1.03 1. 030 12. 26 1.32 1. 320 15. 71 1.32 1. 320 15. 71 |29+36. 902} /1
/NEF| 101, 000 91. 90 91.90 79. 36 79. 36
No. 29 36. 900 — 1.93 — — 1.93 — — 1.92 — — 1.92 — — |IP-67
No. 29 39.000|  2.100 1.94 1.935 4. 06 1. 94 1.935 4. 06 1.94 1. 930 4. 05 1.94 1. 930 4. 05
No. 30 11. 000 1.85 1. 895 20. 85 1.85 1. 895 20. 85 2.76 2. 350 25. 85 2.76 2. 350 25. 85
No. 30 16. 080 16. 080 1.08 1. 465 23. 56 1.08 1. 465 23. 56 1.98 2. 370 38. 11 1.98 2. 370 38.11 [IP—69
No. 30 16. 080 — 1.25 — — 1.25 — — 1.18 — — 1.18 — — |IP-69°
No. 30 25.000|  8.920 1.15 1. 200 10. 70 1.15 1. 200 10. 70 1.18 1. 180 10. 53 1.18 1. 180 10. 53
No. 30 42.280| 17.280 1.19 1. 170 20. 22 1.19 1. 170 20. 22 1.19 1.185 20. 48 1.19 1. 185 20. 48 |IP-=70
No. 31 7.720 1.25 1. 220 9. 42 1.25 1. 220 9. 42 1.03 1. 110 8.57 1.03 1. 110 8.57
No. 31 24.690| 24.690 1.22 1.235 30. 49 1.22 1. 235 30. 49 1.05 1. 040 25. 68 1.05 1. 040 25. 68 |31+25. 003
/ANEF[ 87.790 119. 30 119. 30 133. 27 133. 27
N m
) 188. 790 211. 20 211. 20 212. 63 212. 63




JEhR B ECEREE T

2>z Y—h W B T
B A ks 18N/mm2 LA k= $3.2X100X100 B &
(m) Wr | T 15 M =E Wr & T 9 M =E Wr & T 9 M =E
No. 29 + 22.000 — 0.28 — — 2.18 — — 2.50 — — 29+25. 03 i
No. 29 + 25.000] 3.000 0. 28 0. 280 0. 84 2.18 2. 180 6. 54 2. 50 2. 500 7.50
No. 29 + 36.900| 11.900 0.48 0. 380 4. 52 4. 48 3.330 39. 63 4.78 3. 640 43,32 1p-67
No. 29 + 36.900] — 0. 41 — — 3. 60 — — 4.27 — — IP-67’
No. 29 + 39.000[ 2.100 0.38 0. 395 0.83 3.52 3. 560 7.48 4.18 4. 225 8. 87
No. 30 11. 000 0. 30 0. 340 3.74 3.58 3. 550 39. 05 4.12 4.150 45. 65
No. 30 + 16.080| 16.080 0.23 0. 265 4. 26 3.92 3. 750 60. 30 2. 44 3. 280 52. 74 1P=69
No. 30 + 16.080] — 0. 24 — — 4.35 — — 4. 56 — — 1P-69
No. 30 + 25.000[ 8.920 0.16 0. 200 1.78 2.30 3.325 29. 66 2.51 3.535 31.53
No. 30 + 42.280 17.280 0.14 0. 150 2. 59 2.31 2. 305 39. 83 2.51 2.510 43. 37 IP=70
No. 30 + 47.350| 5.070 0.14 0. 140 0.71 2.31 2.310 11.71 2.51 2.510 12.73 IP-70%iH
/NG 75. 350 19. 27 234. 20 245. 71
EE 7]
A = 19.27m3<10m
= 1.93 m2
A = m m3 m2 m2
= =}
75. 350 19. 27 234. 20 245. 71




BHfEET - B BEETER

. - B#EET B #h#1 (n2)
NLILES B & hR &B S
Z {21BE (m) % {822 (m) &t (m) |
58 — — 0. 00 — [NO. 27+ 35. 896
59 1.01 — 1.01 — |NO. 28
60 1.00 — 1.00 — |EC. 62
61 1.04 — 1.04 — [NO. 28+27. 915
62 1.07 — 1.07 — |INO. 29
63 1.07 1.45 2.52 — U
64 1. 16 1.45 2.61 — [NO. 29+25. 00
65 1.16 1.45 2.61 — U U
66 — — 0. 00 — |IP-67
67 1.11 1.11 2.22 — |NO. 29+39. 00
68 — — 0. 00 —
69 2.19 0.76 2.95 — IN0.30 (HBEHEELY)
70 — — 0. 00 — i i
71 1.21 1.24 2.45 — [NO. 30+25. 00
72 1.24 1. 25 2.49 — |IP-70
73 1. 46 — 1. 46 — |INO. 31
74 — 1.19 1.19 — |INO. 31
75 — 1. 20 1. 20 — [NO. 31+25. 00
&t 25. 82 0. 00




ERBEFER ERBEFER

A% EERRETE = N FERRMTE .
S | Hm | Bm | #m #S | Hm | Bm | #m
58 - - -
59 - - -
60 - - -
61 0.29 0.27 0.08 |Z=MEE (HEAKRES)
6o 7 /4X0.05" 2 X TH 0.01 |AMIEE (¢ 50%)
7 /4X0. 072X 3T 0.01 |A1EE (¢ 70%)
7 /4X0. 052X A5 0.01 |AMIEE (¢ 50%)
63 7 /4X0.10°2X 1% 7] 0.01 |AMIEE (¢ 100%)
0. 62 0.53 0.33 | e (B M ER)
0.35 0.24 0.08 |Z=MIEE (HEAKES)
6 0. 31 0.35 0.11 |A&MEE (- » )
7 /4X0.05 2 X TE T 0.01 |A1EE (¢ 50%)
7 /4X0.08"2 X 14T 0.01 |A1aIEE (¢ 80%)
65 - - -
66 0.50 0.55 0.28 |ZEfBE (HEAKRK)
0.72 0.52 0.37 [GMEE (. » )
67 - - -
68 - - -
69 0.13 0.13 0.02 |fifmag ko)
70 - - -
- 7 /4X0. 252X 1% 7 0.05 [Z=fBE (¢ 250%%)
0.55 0.54 0.30 |FMIEE (HEAKES)
72 - - -
73 0.35 0.35 0.12 |FMIEE (HEAES)
74 0.20 0.30 0.06 AfuEE (v )
75 - - -

&t 1.86
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b E IS T B &= £ E X
I Al oAl =R v a8t L ez
FIRE - &
Wi &1 1T
a7 U—RMIDD
ANJ1 (t=3cm) m2 0.134 0.134 0.1
1 (3em=t=6cm) m2 0. 000 0. 000 0.0
a7 V—MEEEL
AN m3 0. 00 0. 00 0.0
TR RV~—% A &
t=1cm m2 0. 000 0. 000 0.0
t=3cm m2 0.134 0.134 0.1
t=4cm m2 0. 000 0. 000 0.0
t=bcm m2 0. 000 0. 000 0.0
t=6cm m2 0. 000 0. 000 0.0
t=7cm m2 0. 000 0. 000 0.0
t=8cm m2 0. 000 0. 000 0.0
t=9cm m2 0. 000 0. 000 0.0
t=10cm m2 0. 000 0. 000 0.0




BTEISET [RIBE -

%

(Ury ) &) HIEHERER

INLIL
E=5

HWEER
(m)

=S

(m)

R

(m)

HIEmE
(m2)

BrEIEETL
(m3)

ColdD Y
&t (m2)

HIEmE
&t (m2)

BrEIEETL
£t (m3)

e

58

59

60

61

62

63

64

65

66

67

68

69

70

71

0.00403

0.00403

72

73

74

75

0.134

0.134

0. 00403




BERFERS || ColxoY |#WEmEE |MEEET
(m) (m2) (m2) (m3)
0.01 0. 000 0. 000 0. 00000
0.03 0.134 0.134 0. 00403
0.04 0. 000 0. 000 0. 00000
0. 05 0. 000 0. 000 0. 00000
0.06 0. 000 0. 000 0. 00000
b 0. 07 0. 000 0. 000 0. 00000
57
BT 0.08 0. 000 0. 000 0. 00000
0.09 0. 000 0. 000 0. 00000
0.10 0. 000 0. 000 0. 00000
0. 30 0. 000 0. 000 0. 00000
BEf 0.134 0.134 0. 00403

BERS6emLlEIX T2y ) —FEIERL] TEHE

BERS ColxD Y E7R avy)—hFEEL
0.07 0. 000 0.00
0.08 0. 000 0.00
0.09 0. 000 0.00
0.10 0. 000 0.00
0.30 0. 000 0.00
&t 0.00




%?51 % % g i No. 1
T i#E| & Al A1 & B ol e BEt s HE
EE aF & hR
BT H KK L

=7 U — b
a7 J—F 18N/mm22L I m3 38. 94 38. 94 39
A $ 3.2X 100X 100 m2 247. 66 247. 66 248
FEREA C-40, t=150 m2 260. 94 260. 94 261
R +Hb m2 257.76 257.76 258
7 4 —7F—/L | $100, L=0.15m %N 11 11 11 {113. 440m—=10m
H s = AR (t=10) m2 3. 89 3. 89 4

WriggE =27 ) — b
a7 J—F 18N/mm22L m3 — 10. 530 — 10. 530 11
g — A m2 — 40. 58 — 40. 58 41
W HA B (A4 t=10mm m2 — 48. 72 — 48. 72 49
rAn 4 D10X 150X 150 m2 — 36. 60 — 36. 60 37
H s = AR (t=10) m2 — 1.05 — 1.05 1




ERaro)—k

ay 7 J—h B4 Fpea H i #E
3B ARSEEEE 18N/mm2 24 | ¢ 3.2X100X 100 C-40, t=150 R & &
B E THN HE|WE F¥H BE|HED FH K=
No. 27 35. 900 0.34 — — 2.18 — — 2.22 — — 2.18 — —
No. 27 38. 140 0. 37 . 355 0. 80 2.37 2.275 5.10 2.41 2.315 5.19 2.38 2. 280 5.11 [IP-61
No. 27 38. 140 0.33 — — 2.12 — — 2. 42 — — 2.41 — — |IP-6r
No. 28 0.28 . 305 3. 62 1.75 1.935 22.95 2.05 2.235 26.51 2.02 2.215 26.27
No. 28 8. 960 0. 31 . 295 2.64 1. 94 1. 845 16. 53 2.23 2. 140 19.17 2.21 2.115 18.95 |EC.62
No. 28 25. 000 0.31 .310 4.97 1.97 1. 955 31. 36 2.22 2.225 35. 69 2.20  2.205 35. 37
No. 28 27. 920 0. 34 . 325 0.95 2.16 2. 065 6. 03 2.39 2. 305 6.73 2. 37 2.285 6. 67
No. 28 27.920 0.38 — — 2.43 — — 2.45 — — 2.41 — —
No. 29 0. 37 . 375 8. 28 2.38 2. 405 53.10 2.41 2. 430 53. 65 2.38 2.395 52. 88
No. 29 22. 000 0. 37 .370 8. 14 2.38 2. 380 52. 36 2.41 2. 410 53. 02 2.38 2. 380 52.36 |No. 297t ]
/e 29. 40 187.43 199. 96 197.61
No. 30 + 47.350 0.34 — — 14 — — 14 — — 11 — —  |No. 313
No. 31 0. 34 . 340 0.90 .14 2. 140 5.67 .14 2. 140 5. 67 11 2.110 5.59
No. 31 + 24.690 0. 36 . 350 8. 64 .28 2.210 54. 56 .34 2. 240 55. 31 .31 2.210 54.56 |31+25. 0%t
/NEE 9. 54 60. 23 60. 98 60. 15
H Hiks
A = 38.94m3+10m
= 3.89 m2
A m m3 m2 m2 m2
) 38. 94 247. 66 260. 94 257.76




ErEEEa Y —k

a7 Y—h s W HA RS L4 Bk 41
B & R R Bt 18N/mm22L | — i t=10mm D10 X 150 X 150 =
(m) ¥ & T 5 HE ¥ | T HE ¥ & T 5B HME ¥ | T HE
(BEF]
No. 27 + 38.140 — 0.273 — — 1. 02 — — 1.25 — — 0.92 IP-61
No. 28 11. 860 0.272 | 0.2725 3.232 1. 02 1. 020 12. 10 1.25 1. 250 14. 83 0. 92 0. 920 10.91
No. 28 + 8.960| 8.960 0.262 | 0.2670 2.392 1. 02 1. 020 9.14 1.20 1. 225 10. 98 0. 92 0. 920 8.24 |EC.62
No. 28 + 25.000| 16.040 0.261 | 0.2615 4.194 1. 02 1. 020 16. 36 1.22 1. 210 19. 41 0. 92 0. 920 14.76
No. 28 + 27.920| 2.920 0.227 | 0.2440 0.712 1. 02 1. 020 2.98 1.18 1. 200 3. 50 0. 92 0. 920 2. 69
/NG 39. 780 10. 530 40. 58 48.72 36. 60
Ep:it %)
A = 10.53m3<10m
= 1.05 m2
A = m m3 m2 m2 m2
o 39. 780 10. 530 40. 58 48. 72 36. 60




"B T B =& £ E K
T & il Al AL GEil E T L
IRERE B T
= PRk 22%1524%3048 m2 1,082 1,082 1,082
ton 193. 28 193. 28 193. 28
AR —F FHEAR Y = 27 )V R Ak m2 1,083 1,083 1,083
KEEDH & 91 91 91
G b m3 23.2 23. 2 23.2
+n5 m3 14. 6 14. 6 14. 6
B AR Y =5 L | ¢ 600 m 12.0 12.0 12.0
JKHEIRT
HEHAE 1H m2 1083 1083 1,083
7K ALEE T
+n5 m3 2.6 2.6 2.6
i LD m3 2.6 2.6 2.6
T —— |k m2 10 10 20 20
A Y T
+n5 m3 1.3 1.3 1.3
G b m3 1.3 1.3 1.3
BET 7 WL5y T
BE7 m3 1.3 0.5 0.2 2.0 2.0




KRBT o & £ i F£
T R w7 @ 7l B (i L ot = i

F Ay

HES L m3 42 42 42




H Al b3} & X5 i =1 = =R [v) 1N H & B

X $RAK 22%1524%3048 EEX L) 613.7+328.4+140.0 m2 1,082. 1 1,082
1082. 1=+ (1. 50X 3. 00) % 240. 5 241
241 X 8021000 ST BRI IR 7 0 B ¢ 802kg ton 193. 28 193. 28
+ART—Fk Rl R U = 27 VR AR AT | (BB L) 719. 0+363. 8 m2 1,082.8 1,083
KAEI+D H 1tto 5 18+14+10+16+33 1% 91 91
hES L R ) 0.48X8. 74+ (7. 14+4.6) X0.44+1.14X4.24+0. 78 X 11. 7 m3 23. 24 23.2

+0 5 0.76X4.74+0.13X8.7+0. 11X (7. 4+4.9) +0. 09X (7. 1+4. 6) m3 7.11
(0.37+0.19) X4. 2+ (0.354+0. 09) X 11.7 m3 7.50 14.6
EEBERY =F L] ¢ 600 6.0+6.0 m 12. 00 12.0
B IH TARY — MERE mAH m2 1082.8 1,083
K LER T +n 5 +>5A 1 (0.4+0. 76)*%0. 6/2%2. 25 m3 0.783 0.8
+ D 5B 1 (0.4+40. 64) *%0. 4/2%2. 25 m3 0. 468 0.5
+>5C : (0.4+0. 76)*0. 6/2%2. 36 m3 0.821 0.8
+D5D 1 (0.4+40. 64) *%0. 4/2%2. 36 m3 0. 491 0.5
hEE A 0. 783+0. 468+0. 821+0. 491 m3 2.56 2.6
Tk ($£2000) (2. 25m+2. 25m) /2 X 4. 4m m2 9.90 10
(2. 36m+2. 36m) /2 X 4. 4m m2 10. 38 10




H Al b3} & X5 i =1 = =R [v) 1N H & B
AL D T +n5 (0. 4+0. 76) *0. 6/2%3. 58 m3 1.25 1.3
HEE L 1.25 m3 1.25 1.3
BE" 7 ALy +ARKT— K 1082. 8 0. 00115 m3 1.25 1.3
KA+ 548 91X 0.002+0. 35 m3 0. 52 0.5
+o 54 (14. 6+0. 8+0. 5+0. 8+0. 5) +—0. 02X 0. 000043 0. 35 m3 0.11 0.2
b5y Ly HEE b 23.2+14.6+2. 6+1. 3 m3 41.7 42




